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log(L* u)=1,89, mu=0,13

L* u=50, Yu=0

IECsRGBJND−Helligkeit für alle Farben, L*W=100:
L* IECsRGBJND = 100, (Y/Yn)1/7,2    (Yn=100 Y > 1/255)

Anwendungs−

bereich

BGT40−2A
−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

log(Y)
YYN=4

  −1

    0 1

    1 10

    2 100

log (L*/L* u)  Relative IECsRGBJND−Helligkeit
L*/L* u

log[(L*) /(L* u)]=0, mu=0,13

L* u=50, Yu=0

relative normierte IECsRGBJND−Daten

IECsRGBJND−Helligkeit für alle Farben, L*W=100:
L* IECsRGBJND = 100 (Y/Yn)1/7,2   (Yn=100,  Y > 1/255)
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log ∆Y  IECsRGBJND−Normfarb−
wertdifferenzlog(∆Y) ∆Y

log(dY)=1,64, mu=0,86

Yu=0, dYu=0,09, dYu/Yu=0,1440

L* IECsRGBJND = 100 (Y/Yn)1/7,2

IECsRGBJND−Normfarbwertdifferenz

log(dY) = log( 7,2 (Yn/100) ) + (1−(1/7,2)) log(Y/Yn)

 = log(7,2(Yn
1/7,2)/100) + (1−(1/7,2)) log(Y)
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log(∆Y/∆Yu) Relative IECsRGBJND−Normfarbwertd
∆Y/∆Yu

log[(dY)/(dYu)]=0, mu=0,86

Yu=0, dYu=0,09, dYu/Yu=0,1440

L* IECsRGBJND = 100 (Y/Yn)1/7,2

Relative IECsRGBJND−Normfarbwertdifferenz

log(dY)  = log( 7,2 (Yn/100) ) + (1−(1/7,2)) log(Y/Yn)

 = log(7,2(Yn
1/7,2)/100) + (1−(1/7,2)) log(Y)
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wertemfindlichkeitlog(Cr) Cr=(∆Y/Y)

log(dY/Y)=−1,03, mu=−0,13

Yu=0, dYu=0,09, dYu/Yu=0,1440

L* IECsRGBJND = 100 (Y/Yn)1/7,2

IECsRGBJND−Normfarbwertempfindlichkeit
log[(dY/Y = log(7,2(Yn

1/7,2)/100) − (1/7,2) log(Y)
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log [(∆Y/Y) / (∆Yu/Yu)]  Relative IECsRGBJND−Norm
farbwertempfindlichkeitCr /Cru=(∆Y/Y)/(∆Y/Yu)

log[(dY/Y)/(dYu/Yu)]=0, mu=−0,13

Yu=0, dYu=0,09, dYu/Yu=0,1440

L* IECsRGBJND = 100 (Y/Yn)1/7,2

Relative IECsRGBJND−Normfarbwertempfindlichkei t
log(dY/Y)/(dYu/Yu)]  = log(Y/Yu)−1/7,2
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log (Y/∆Y) IECsRGBJND−Normfarb−
wertkontrastlog(Sr) Sr=(Y/∆Y)

log(Y/dY)=1,03, mu=0,13

L* u=50, Yu=0, dYu=0,09, Yu/dYu=6

L* IECsRGBJND = 100 (Y/Yn)1/7,2

IECsRGBJND−Normfarbwertkontrast

log(Y/dY) = log[(1/7,2) (100/Yn)] + (1/7,2) log(Y/Yn)

 = log[(1/7,2) 100/(Yn
1/7,2)] + (1/7,2) log(Y)
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log [(Y/∆Y) / (Yu/∆Yu)] Relativer IECsRGBJND−Norm
farbwertkontrastlog(Sr) Sr /Sru=(Y/∆Y)/(Yu/∆Yu)

log[(Y/dY)/(Yu/dYu)]=0, mu=0,13

L* u=50, Yu=0, dYu=0,09, Yu/dYu=6

L* IECsRGBJND = 100 (Y/Yn)1/7,2

Relativer IECsRGBJND−Normfarbwertkontrast

log[(Y/∆Y)/(Yu/∆Yu)]  = log(Y/Yu)1/7,2

L* u=50, Yu=0, dYu=0,09
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